Periodic Functions
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Tomato 1

1. A vessel contains z gallons of wine and another contains y gallons of water.
From each vessel z gallons are taken out and transferred to the other. From the

resulting mixture in each vessel, z gallons are again taken out and transferred

to the other. If after the second transfer, the quantity of wine in each vessel

remains the same as it was after the first transfer, then show that z(z+y) = Ty
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Limits
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Let m and n be two positive integers greater than 1. If

cos(a") _
lim[u] = —(%) then the value of 2~ is

a—0 = n
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